Trigonometrische Berechnungen

Man definiert nun:

' a  Gegenkathete
Sinus von o = — =
C Hypotenuse
' b Ankathete
Kosinus von o = - =
¢  Hypotenuse
T a  Gegenkathete
angens von o = — =
: b Ankathete
Kot b Ankathete
otangens von o = — =
: a Gegenkathete
¢ Hypotenuse
Seka _ ¢ _
ekans von a = - e
: Hvpot
Kosekans von o = ¢ _ HYpOLelUse
a Gegenkathete

i~
L
Y
" ..-""-f ' = %;
A P, \
i {\\ (S
e -—-;}'\_ %
"'E‘- - P y T
L1 Yy =90 \%=m
e N =%
'?::\4'!_‘:?.-#" /}\
.-'"'-'.;.’-h:'l X I'lr .'\_\
Hypatenuse
.

Rechtwinkliges Dreieck


http://commons.wikimedia.org/wiki/File:Dreieck.PNG
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